
Subtract 7 [DCIJ(}J[IQ] 
ma frm_,nffl;J, -

Tables lcurn these: 
7 7 = 0 7 = 0 
8 7 = 1 
q 7 = 2 ,, 

10 7 = 3 10 7 = 3 
11 - 7 = 4 
12 - 7 = 5 
13 - 7 = 6 
14 7 = 7 
15 7 = 8 
16 7 = q 
17 - 7 = 10 
18 - 7 = 11 
1q - 7 = 12 

3. (a) (V - Q) =O 
(b) @-
(c) @ - 0= 0 -

Day 2 Say the tables. 
Learn these: 

11 - 7 = 4 
12 - 7 = 5 
13 - 7=6 

1. (a) 'OCXX)-. 

11 - 7= 0 
(b) ,.cxxx:x:xy 

0 - 7= 0 

(c> (Xf:J:J:),, ~CIIHCIH 
0 - 0 ! 0 

2. (a) 13 minus 7 =D IJ 
(b) 11 lake away 7 = 0 
(c) 12 less 7 = 0 

3. Complete. (Subtract.) 

(a> 1101-1 1l=I 1 
(b) I 12 I - I ! = ! 5 I 
(c> 1 1 1 11 = I 6 I 

4. ::: ~ : :B 
(c) ~ = 0 

5. (o) 112-7)-3= 0 

(b) 

(c) (11 - 7) - 3= 0 



Day 3 Say the tables 
learn lhe-se: 

14 7 = 7 
15 7 = 8 
16 7 = 

1. ···· ®© (a)u - (b)u - (c)u -

2
· 1 J I ~b; I I ~d; I I 

3. (a) 13 - 7 = 0 
I (b) 

(c) 15- 7= 0 
(d) 

4.~ a) ~ b ~c). Qyd). 14 16 15 10 
- 7 - 7 - 7 

5. Match. 
(a) 16- 7 •.. g 
(b) q _ 7 • II 
<c> 14 - 7 . 11 
(d) 13 - 7 • ID 
(e) 15 - 7 • Iii 
(f) 12-7 • 11!1 

Day 4 Say the tables. 
l eo rn these: 

17 - 7 = 10 
18 7 11 
1q 7 12 

1. (a) 19 less 7 =0 
(b) 16 minus 7 =0 
(c) 18 takeaway 7 =0 
(d) 17 sub lract 7 = 0 

3. Fill in the gaps. 

(a) ~ -0=@:J-0=[ 
(b) 

(c) @J-0=O -0=[ 
(d) 

4. (a) 
19 

- 7 Jl~IJ 
5. (a) 1 
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